
Cosech x is not defined for . 

A)   x = 0                            

B)   x = 1                   

C)  x = -1                           

D)   x = 
π

2
 

ANSWER: A 

∫ 2 tan x sec2x dx =. 

A)  
sec3 x

3  + c         

B)   tan2 x + c          

C)    sec2 x + c                              

D)   2 sec2 x + c 

ANSWER: B 

∫
1

xlnx
dx =.. 

A)  lnx + c             

B)  ln (lnx) + c           

C)  lnx                   

D)  lnx2 

ANSWER: B 

If  f(x) = 
1

4x5+6x2+5
  then the derived function is. 

A)    
( 20x4+12x)

(4x5+6x2+5)2
        

B)  
−( 20x4−12x)

(4x5+6x2+5)2
        

C)   
−( 20x4+12x)

(4x5+6x2+5)2
      

D)  All 

ANSWER: C 

  A system of linear equations is said to be inconsistent if the system has____. 

A)  Unique solution                                   



B)  Infinite solution 

C)  No solution                                            

D)  Both A & B 

ANSWER: C 

Solution of the system 2x-y+z = 8, x+2y+2z = 6, x-2y-z = 1 is__. 

A)    3, 0 ,-2                                                   

B)    2, -1 ,3 

C)   -2, -3 ,1                                                     

D)   -3, -4 ,8 

ANSWER: B 

If  y2+2x2y  = 2, then Instantaneous Rate of change=. 

A)    
−4xy

2y+2x2
                    

B)    
−2xy

y+x2
                        

C)    both a&b       

D)   All 

ANSWER: D 

d

dx
(e4) =.       

A)   e4                   

B) 4e3                         

C)  0        

D) imposible 

ANSWER: C 

d

dx
(x sina)  =. 

A)  xcosa+sina       

B)  xsina+ cosa            

C)  sina                 

D)  ax cosa + sina 

ANSWER: C 



∫ eex
  exdx = . 

A)    (eex)2 + c           

B)    eex + c                 

C)    
1
2 eex + c                                

D)  None 

ANSWER: B 

If  
d

dx
(sin√x ) is equal to.  

A)   cos√x                   

B)   −
cos√x

√x
               

C)    
cos√x

2√x
             

D)    
cos√x

√x
 

ANSWER: C 

d

dx
[10sinx]=.     

A)   10cosx                                                       

B)   10sinx cosx ln10                              

C)   10sinx ln10                                      

D)   10cosx  ln10 

ANSWER: C 

1.  
dx

(1 + x2) tan−1 x
 = ⎯⎯⎯⎯⎯. 

A)    ln | tan−1 x | + k     

B)    ln | 1 + x2 | + k   

C)     
1

1 + x2 + k             

D)     sec2 x+ k 

ANSWER:  A 



The derivative of e2lnx w.r.t x is equal to. 

A)    0                          

B)   2x                     

C)   1                               

D)     
1

x
 

ANSWER: B 

Derivative of x5 w. r. t  x2 is.  

A)  0                           

B)  Undefined                  

C)   
5

2
𝑥4                  

D)  3x2 

ANSWER: C 

The derivative of tan2x  w.r.t  to tanx. 

A)   2tanx                  

B)   tan2x              

C)   2tanx sec2x             

D)   2tan2x 

ANSWER: A 

d

dx
(tan−1 (

a

x
) + Cot−1 (

a

x
)) =. 

A)     
2a

x4−a4
                     

B)      
4a

x4−a4
            

C)      1                                  

D)      0 

ANSWER: D 

If y = Sin3x   then   Y2  =. 

A)   -3cos3x             

B)   -9 Sin(-3x)     



C)   9 Sin(-3x)          

D)   -9 Cos3x 

ANSWER: C 

If A=[
1 2 3
4 5 6
7 8 9

]  B= [
2 4 6
1 3 2
2 1 9

] then which one is true. 

A)      (AB)−1 = A−1B−1                      

B)      (A−1)−1 = B 

C)      (B−1)−1 = B                                

D)       All 

ANSWER: C 

If A= [
9 5
3 2

] , |A2|=. 

A)      11                      

B)       9                       

C)      10                           

D)      12 

ANSWER: B 

The function f(x) = 2 + 3x2    has minimum value at. 

A) x = 2                   

B)  x= 3                

C)  x= 0                         

D)   x =1 

ANSWER: 

The derivative of elnx w.r.t x is equal to. 

E)    0                          

F)   -1                     

G)   1                               

H)     
1

x
 

ANSWER: C 



If A=[−3 ] then  det ( A)  =. 

A)      3                          

B)     -3                  

C)      1                             

D)      0 

ANSWER: B 

Derivative of 7x w.r.t x is. 

A)      7x                          

B)  7x lnx                         

C)    7x ln7                     

D)  7x / ln7 

ANSWER: C 

d

dx
( Csc−1( 

4

   cos x°    
) + Sec−1(

4

   cos x°    
)) =. 

A)       
−8cos x° 

√16−(cos x°)2 +√16−(cos x°)2
                                            

B)      
−8Sin x° 

√16−(cos x°)2 +√16−(cos x°)2
        

      c)      0                                                                    

     d)    None 

ANSWER: C 

 

    
xm − 1

xm + am dx = ⎯⎯⎯⎯⎯. 

A)    ln | xm + am | + k      

B)    ln | xm − 1 |    

C)    
1
m ln | xm + am | + k        

D)   
xm + 1

m + 1 + amx + c 



ANSWER: C 

  If g is an inverse function of f then [fog (x)] =.  

A)  f(g(x))                    

B)  x                          

C)  1                      

D)        -x 

ANSWER: C 

|
2 1 −3
4 6 9
5 3 2

|+ |
2 1 5
4 6 −5
5 3 3

| = . 

A)   12                

B)   1                          

C)   21                           

D)    0 

ANSWER: D 

If A is square matrix of order 3 and |A| = 4 then |2A| = . 

A)  8                  

B)   6                      

C)   32                               

D)    None 

ANSWER: C 

lim
θ→0

sin4θ

θ
 =. 

A)  0                                            

B)  1 

C) -1                                           

D)   2 

ANSWER: A 

 


